by

‘erté uit»wki»\;} fewiamism ;’(a,‘,cyz/ww;k? I, 37 [omuani 1458

1.0, L= 01 24 vy AcSL. Plh)= Lengte var AL
Pra, nA) = Pl4)+ /P[A;)..P(Af)-”’(*‘):i*i‘-té: =
= P((4,2)) = 5 =Pl~). PiA),

Yy !

). P(AtVAL): PLAy) + 7P("*3,)-
Veem o Aj=(0,3) en Ay=(5,2): PAnA)

|

-+
!
\

B Y, ) 1 :
i), Sewr, hant = ]P(v;O,,BB)u(%%',)) =yt s =
(,«;;\ 2? (j S # I,éa,i{,L 4 <.-- J‘? s A "h 0c, p= %\ ey daid A /A‘{dbtj I o= /P(gzg) -
LY. >3

;'00 , O f ‘ \{ f(;u~£, R ) 9 - » . L ’\4._ . s
= L { ) SC«/ ( ! s zé) ~Z Yeridln (»4) L‘&rd,uu mLE = ’)\p =2 ;

. . - \ -2
Apis P [,g,;ﬂ T f?arszg)@ P{722) = 1=~ P(T€2) = 1~ Se

" . c -7 A
ﬁldX G ‘;OO i = AX e - T TEx) Jo .:-g— e - C_.:_S‘

,,c:, S n i
. : L fy e T — —le ol = T~ .
veow a&p  Fial=o0. Veer €70 Frale= ﬁﬂx Eler dx o [!/»x)« [I+a,}5
%0 £y

; 1 ; £ - L o> -
Ly er €At ey EN#X) = 0 (14x) _dx = 3
liy, o Redh vy B ER TRy 0

wy

{i).

4
‘“-“y

%

uyg

2
] > 1) K U o 1 14 fren)
fu= o El+X) + @& :-:2»5*#@:3--, Var Y = 4 "/ar(ix_)

(i
_ Bt o TRl = s {5

‘“\07
N
&m

vy, feur. hane = P{Y>wo) = Prinx) > 16 = P>

Py 7
= 1~ fy(D=1=(1- 1w = (%)

X = # heren ’Lr«;u'f’;'a' 1 yerp hel g 7S

aly

[y Dasr X M (m=F, b=b), r g honp = PIA) =
Y- B herhallpgen noecy viov A decr:

- B AT el r‘i_i‘j_
Cocty - Ply=m)= pl-p)"" = 5 ()7 W ome R, E9= e

{: ( . hed 5"?\ { U““Yﬁ ;

() Wesent gthmgerirglacd  ex "staarihart'

i, 2§ Be={bedrag ian F1}, dan - P(B) = Zf P(Bady=ny) = (in rakt. Kotatie )
a0 L 7 1

= 2«;:’ P(,df’ﬂ-"" A,,C;, N {"/h=’}’) = ”:’ (f—/b)% 1??(X:1) = %79 = E
(i), Yne dmea,m b Neem Aom . modet met )= {combirakies van nwt 3y, #Q)= (1)
P(Y,=m-1) = (,,é,)(")/[ﬁ) = g
(X1D) 2 Yn, dur P(X=r-t JDn) = 5n en P({=n|Da =1-4n.

Dan :

(). PDAY=7 , e~ é ‘
3 = 5 : = ¢ S n] =
Gy, E(XIDa)= EUn=(m-D 5ntn-f1-5n)=2n dur EX= E(XID.) P(DN)
6 6 1
= 2/,. ?_*1 L = 3. .
(iv) 29 “’{aLU fallin it} , dan P(A) = Z,,, P(ArDy) = 3, P({X=nkn Dn) =

= 2, PCX=rn | DA) P(Dn) = é,,M (1-4n) £ =1

L.
= 1 .
(v). Gewr. luu»r = PO IA) = P(X=61D¢) TP(D;)/[P[A)‘ (1-8)¢8/4 =2




